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* Chapter 8

e Short Form

* Informal (Casual) Speech Style
s INT XK




Chapter 8

* Short Form
*  Form listed in the dictionary/vocabulary list

* longForm (~T9Y., ~%9) Short Form
Present Tense Affirmative
- LFEY ERG)
- BLLAWLTY BLHLLAL
« TEhUWTY EnE
« BREATY BREATE
Present Tense Negative
- LFEEA L7y
- BLLALCLGLTY BHLLACGEY
« EnLLriRLTY EnLC iy
c BRIALPLELTY BERETAL e

(Past tense short form = Chapter 9)




e Long Form: ~TC9 /~% ¢

* Marks the speaker as the “public”
speaker

* Used to show the polite attitude
toward the addressee

e Shows unfamiliarity to the
addressee, leaving a distance
between the speaker and the
addressee

* “Formal”, “Polite”, “Distal”
c BIEELITTVET, Vs
c BlIE L Do
e HFWLWLLZWTY, Vs,
« HULVL <7y,




Short Forms

e Short Form:

* Marks the speaker as a
private speaker

e Shows familiarity to the
addressee, no distance
between the speaker and
the addressee

e “Casual” ”Informal”, “Plain”




JAPANFOUNDATION EERSSREE

\ > SUL SERBENOEBLB Y1 hTT
(;(!]\./’@! 4 lh l& h h =0 E3-3 VUED K I:A.ngvﬂma °
o BEOSEREOIVFTYYHLDIEEL.

- Bh 2L

Tp. TUYE—RBICBFREBICHHELELS!

Lo L& [~ 2 S&Sth

> X (EEF) > =0

https://www.erin.ne.jp/en/



https://www.erin.ne.jp/en/

All right,
o what shall we
ride next?

Umm -+
How about the
Ferris wheel?

Well, then what
do you want to

(English)

@ N
| |
Make sure yau™~g—" 52
don't ery o
(] yourself, Erin.

Lecture-/




ST k=L, 2FIF. "IC, DY FET
m7? MA B A L % "ferries wheel”
ITAT-: 22—, DABLAL®IE. EHTT
H?

X ZA—. FABRDDELHEWVWTT L —,
ITATz: U dH, BITH WLWWTTH?
TYY: HBNICDYEL &S,

X B, LWhTTh—,

X FFFFLET|FF R % ¥ 5 excited”

TYY: FAtC A EUL LS RTT
2

ITAT-: 20 SAI T VEAZZ, &
WTlEWITEFEFA L !

ég\ IU\/: %\ %_o
[TAT=z 1 T=0 7= 17 T30 |
7=9 |} % “help”




Casual
Speech

Version




SE: k—L, DF, KT, »B?
ITAT-: Z— DALAL®IT?

IEZ A= TABD DEABVE—,
ATz Codh. BITH VLWATZL?

g

Casual

T> . BHNICDAD, | ~ATF “itisthe case ~”

=X DB, Lhvia—,
X FFRFFT 3514,
TV FTAT=K A 7Z0WC &£ D87

ITAT=: 2. AT TV VEAZZ, &
& |

ég\ IU\/: %\ %_o
[TAT-: 7=, 7=F T T—> |

Form
Version




* Formation:
* Verbs: Dictionary Form/Citation

Form

e LEXT ERA

c X9 )

e TR E 9 1=X%

s TMITET THIT 5
c KLAFXT KO

cBLETFET F&£<
c WEXT W<




* Formation:
* Adjectives : Dictionary
Form/Citation Form

e LWULNTT LYLY

c P LWWTT LW

« TNWTT EY ARV

c =TT ERCNA
e Copula: ~72

« HRATTY HAANTZ

C BT LIS




Negative : ~7% L)

« LEEA L 7R

- TEXEA W
e U-verbs: u=> _a%ZLy

s MAFEHEA BRE 73

 U-verbs ending with 5 (A5, W5, etc.)
e U>waZ\h

s MLWEHA AN oY A
o b-verbs: _ % > __ 7T\
« LWEHA LR U
s xHYFHA AN A
* Adjectives/copula
e KRELHBWTY REL AW
e L¥HhLrhHWTT LIAr i

s WDFL»HWTT ZDFLHEN




Short form %
LW-oT<L 72
= U,

FTEHITET,
BERE2ITET,
BIAICAY £,
B%xTo2/-WEd,
b 2% H > TWET,
T DWW E T,
PHETWET,
TSN TT,
HHWLWTT,
DHDIEH LW TT,
LAEDTY,
7ZWC & 2.8TY,
BEHEL»BWTT,
BIZCWXATTY,
NAY) TY,
HI-FHNWNTT,

HT 5

PV

A%

T275
HoTW3

2729
PHETWD

gea =
MNHLY
MADIEH 72
LA D7

7/l AN DI SR RSV
bR alio Walll DI B/AN A
BIZWS AT
NAY T2
HT-FH UL



Casual/Informal Speech

* Between someone familiar, in private
relationship

* Up to each individual (no specific rule to
determine when you switch to this style of

speech)
e Abbreviation of particles

« A LAFET,

« KL,

« EN TET,

« tE <%,

« XT7 Y —=SAlZ TAXUAATT,
c ATV =S A, TXYUBDANT,



Casual/Informal Speech:
Question

Intonation (rising intonation on the very last
syllable)

e WHZTAZ LoTWWEIH?
e HHHSA LoTW3B?

Cannot use 72
e IZIFLZAIIFE. LAEDTTH?
e 1zl LSA, LAED?
Or, use @ at the end of the sentence
« S RIZELTWETHL?
e 5. I LTWBD?
With 7:-adjective or noun, 73D ?
e WL £k DX TIH?
e TVl £ DD 7




L )
Casual/Informal Speech:

Question \
* Answering to a question:
Iy > DA ,

e LVWWVZ > 22A

- HLTe. 7 T7RIZLB?
2 A X5,
ZOMNAL, hhd?
DDA, HEnEWE,

220




Quiz 10 Lecture

1. Describe the pictures using the “purpose of
going/coming” construction. Please make sure to include
the following information: the name of the place each
person goes and the purpose of going there. (5pts.x2)

a. ¥UT7EAIR

=~ C/
'po00OP

0
poooo
1100 °,

—_—

Z)\ department store

Maria(% Y 7) Paul (FE—)

LE A

2. BREETIT A TY M ? (Translate into Japanese. You
may use Kanji for the words for which Kanji is not
introduced but for full credits, write the pronunciation using
Hiragana correctly). (6pts. X3)

a. | have two older sisters and one younger brother.
b. Takeshi-san’s father is tall but my father is short.

c. Mary has two older brothers. | have one older
brother.



